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Unless otherwise specified, numernical answers should be exact.
FE Part A
EEEREEERARENUR -

Write the answers on the spaces provided in the answer sheet.

The volume of a cube is 36 em®. A regular octahedron is formed by joining the centers of
adjoining faces of the cube. What is the volume of the octahedron?

—IEI 77 MRAVER R 36 cm? » $EABRFRYERY P BARIRE - W{E—EE\E - FEEENE
FREVHRR -

Let ABCD be a parallelogram of area 15 em? with A8 =4 em and BC =5 em. E, F, G and Hlie
on AR, BC, CD and DA respectively, with AE = BF = DG = 4H =3 em. Find the area of the

quadrilateral EFGH.
3 ARCD B—EEM 15 cm® BT UEBHR; » AR=4em BC=5em:E-F-G B H&H
BfEAB-BC-CD+ Fr DA FESBL 1 AE=BF=DG=AH=3 cm - RUBY EFGHHIE
;tl-

The figure shows a triangle AFC with A5 =3 and AC
=8. If D is the mid-point of 5 and AD = x, where x

i= an integer, find all the possible values of x. 2
BR=Ml ABC: AB=3 1 AC=8 - D& BC Zh

B AD=x x B—%% - ¥ x FrErIHEATH - B D

1 0 Ais a three-digit integer that 15 equal to the sum of cubes of 1is digits, that 1s-

104 =13 + 0OF + A3
Find this integer.
1048 B—E={r8  foXEE LA Ee =R BRFERE » B

10A =13 + 03 + A3
FE={TH -
A rectangle has an area of 960 em® and sides in centimeters which are multiples of 4. How
many rectangular shapes satisfy this condition? (note : rectangles of dimensions dem > 240cm
and 240em » dem are counted as one shape.)
— R 52 ERE 960 em? » MEBRE dem 2 {E¥ - B HETREANELGERZEL
FRfERE ? OEE - BER dem x240em Fr 240cm X dem BIR HGEAER—REAARET - )



10.

11.

Let o, b, ¢ and & be integers.  One of them 15 an even number, and the others are odd numbers.
The possible sums of adding any two numbers are 66, 73, 87, 98, 110, 119.  Find the sum of
the three odd mumbers.

a~b-c BdBOEEN HP—EREE  HERETE - PEEEMERM - S
fiEo66 -75 -87 - 98 - 110 - 119 - X ={BarEmyH -

Find the unit digit of 74%2,
& 70 o {8 -

2 1% a three-digit number.  Its digits are all different and not equal to zero.  Remrange the

digits of x to get five other numbers. These five numbers and x are added together to get 4218,
Find the sum of digits of x.

x B—E=UE  EE BT BTSN E - B x (VS {IBRFA8SN A
¥ - ST A E B R« AHANFTS 4218 - 3 x 89 BEyT -

In tnangle ABC, BD:BC=CE: CA=1:3. Let Fbethe
mtersection of AD and BE. Find AF : FD.

=B ABCHR BD:BC=CE:CA=1:3 WM FRADE BEM
R K AF  FD -

It 15 known that the cost of tickets for 7 children and 2 adults to go to Disney World Hong Kong
15 54100,  On the other hand, the cost of tickets for 20 children and 3 adults is 39150,

However, a 10% discount 15 given when purchasing more than 10 tickets for children
(discount for children’s tickets only.). Find the cost of ticket for an adult. :
EREFEELE/ AR EMBA A FRIERSL00 - M Z+B AR =B RN
39150 : {2 » BWE:EH AR HEALTEE (BERET/ AR - F—8m ) 5K
BY{RE -

ABCis atriangle. CAF, ABD, BCE are straight lines such that
AF=AC, BD=BA, EC=CB. If the arca of tnangle AFC 15 1
square unit.  Find the area of tnangle DEF.

ABC e—=pH:; » CAF - ABD - BCE S EEL48 AF = AC »
BD=EA » EC=CE- IR =@k ABCoymifeE 1 T K
fir » ¥=@H; DEF BymR -




12.

13.

14.

15.

16.

L

A road 15 built around the perimeter of a reservorr.

Three trailwalkers X, ¥, 7 began their walk around the

reservoir at the same place. X and ¥ went in

counter-clockwise direction, and Z went in clockwise /,,-/-“ﬁ_ T

dircction. The speed of X and ¥ are 160m/min and Q j
130m/min respectively. 2 met X after 20 minutes. X e e 3

He then met ¥ after 2 punutes.  Find the penmeter of Z AV —

the reservoir.

BEI R E A — e SETUAL Y - Y I Z R — e Y Vg
il FE i Z BlaiE T FE X R Y B4y BlEEE 54l 160m 05 53-8 130m -
ZEZHTHEER X MoEEFER ¥ Faky R R -

X
If x+—=25, ind r 5
x x +x° 41
.I'E
E.I‘I‘""—j 13':—-—?-— -
x 2 +xi 41

A rectangular picce of paper is shown in the figure, AD =9
em, AB=12 em. The piece of paper is folded along EF
such that 4 and C touch ¢ach other.  Find the length of EF,
[T — R AR  AD =9 em, AF =12 em - 3 B IG 4
EF s A CRE R EFIIRME - - c

1111122222 ¢an be factorized mto the product of two

consecutive positive integers.  Find the larger factor.

1111122222 &]4rEE R F{E WA E S0 - FE A -

In tnangle ASC, Dis a point on 5C such that 8D = DA = AC, and £

BAC=63°. Fmd £ DAC.

FE=AN ABC M  BC fH—BL D9 BD=DA=AC [[f£BAC= o o
63" - K £DAC -

In a star-shaped figure ABCDE, it is known that A
LEB=0=D=/E=347. Find SA.
ETE—AfABR BLB=LC0=sD=,F=34° » K 24 -

FFEfS: End of Part A



Z. 3 Part B
I RaERE SR EEE AR e I -
Answer the following questions completely on

the spaces provided in the answer sheet.

18.

19.

Tnangle A5 C and DEF are as shown n

the figure. The area of tnangle DEF is

6.4 em?, Find the area of triangle ABC, 4 cm
-T=m ABC E DEF - =& DEF
EMARE 6.4 o’ - =/ ABC 8Y[H
H -

27" ki
B 8cm [

There are 11 equilateral triangles.  One of them has side 5 em.  Three of them have side 4 em.

Four of them have side 3 em.  Three of them have side 2 em,

(a) Armange these equilateral triangles into a large equilateral triangle without spaces, folding,
or overlapping,

(b) Find also the length of side of this large equilateral triangle.

He 1 BE=/mk  HRh—EE&F 5 om ={F:&F 4 om [O{FEH Jem =FEFK 2 om -

(a) EEt=mEhE—EEAdke s E=mk &=k f RS 1 rl i -

(b) SFEBEXRE=mEaTER -

An octahedron ACDEFE 15 shown in the figure,  Let 4 be
the starting pomt and endpomnt of paths along the edges of the
octahedron.  The paths cannot go through the same vertex
twice(except the starting point and endpoint 4),  For
example, 4 = &= F=» C = D> Ais not allowed.
However, A—> C2> D> Aand A= D> O A are
considered two different paths.

(a) Find the number of such paths not passing through E. /
(b) Find the number of such paths passing through B. F
B TIEN MR ACDEFE - S{EERIRE A {FEERS AT
i 0 M REIE] A RN T R N 5] — Rh(EERS FL A
BABEA)-FlAC2> F2 02 D24 B1EiF
B {BEA=2C2D2AE A= D=2 2 ARNBEETE
BYREAR -

() T 5 HIREARIE R -

) ki B AR AR -

ZHh5E End of Part B



